

GIWA ESTHER TITIMAYD
17/MATHS/198 /MBBS

7th April, 2020

117

MAT ASSIGNMENT.

Solutions

$$y - 3x - 2 = 0$$
$$3y + 2x + 9 = 0$$

$$y - 3x - 2 = 0$$

Make y subject of formula

$$y = 3x + 2$$

$$y = m_1x + c \quad m_1 = 3$$

$$\therefore m_1 = 3$$

$$3y + 2x + 9 = 0$$

Make y subject of formula

$$3y = -2x - 9$$

$$y = \frac{-2x - 9}{3}$$

$$y = m_2x + c$$

$$\therefore m_2 = -\frac{2}{3}$$

$$\therefore m_1 m_2 = -1$$

$$= 3x - \frac{1}{3} = -\frac{1}{3}$$

Since $m_1 m_2 = -1$, these pair of lines are perpendicular to each other.

$$3y - 4 = 2x + 3$$

$$3y - 5 = 2x + 6$$

$$3y - 4 = 2x + 3$$

Make y subject of formula

$$3y = 2x + 7$$

$$y = \frac{2x + 7}{3}$$

$$y = m_1x + c$$

$$\therefore m_1 = \frac{2}{3}$$

$$3y - 5 = 2x + 6$$

$$3y = 2x + 11$$

$$y = \frac{2x + 11}{3}$$

$$y = m_2x + c$$

$$\therefore m_2 = \frac{2}{3}$$

$$y - 5 = 0x + 6$$

Make y subject of formula

$$y = 0x + 11$$

$$m_1 = 0$$

$$\therefore m_1 m_2 = -1$$

$$= \frac{2}{3} \times \frac{1}{3} = \frac{2}{9}$$

In this equation $m_1 m_2 \neq -1$, so these pair of lines are not perpendicular to each other

Q3) $x^2 + y^2 + 3xy - 11 = 0$ at point $(x=1, y=2)$
Soln

$$\left[\frac{x^2 + y^2 + 3xy - 11 = 0}{2x + 2y \frac{dy}{dx} + 3\left(y + x \frac{dy}{dx}\right) = 0} \right]$$

$$2x + 2y \frac{dy}{dx} + 3y + 3x \frac{dy}{dx} = 0$$

$$\frac{dy}{dx} (2y + 3x) = -2x - 3y$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

\therefore at $(x=1, y=2)$

$$\frac{dy}{dx} = \frac{-2(1) - 3(2)}{2(2) + 3(1)}$$

$$= \frac{-2 - 6}{4 + 3}$$

$$m = \frac{-8}{7}$$

$$\therefore \frac{dy}{dx} (m) = \frac{-8}{7}$$

$$\begin{aligned} \text{Equation of a tangent} &= (y-y_1) = m(x-x_1) \\ &= y-2 = \frac{-8}{7}(x-1) \end{aligned}$$

$$\begin{aligned} &= 7y-14 = -8x+8 \\ \therefore \text{Equation of a tangent} &= 7y+8x-22=0 \end{aligned}$$

$$\begin{aligned} \text{Equation of the normal} &= (y-y_1) = -\frac{1}{m}(x-x_1) \\ &= (y-2) = \frac{7}{8}(x-1) \end{aligned}$$

$$= y-2 = \frac{7}{8}(x-1)$$

$$= 8y-16 = 7x-7$$

$$\begin{aligned} \text{Eqn of the normal} &= 8y-7x-9=0 \\ \therefore \text{The eqn of the normal} &= 8y-7x-9=0 \end{aligned}$$